

October 7, 2024

The General Manager Pakistan Stock Exchange Limited Stock Exchange Building Stock Exchange Road Karachi.

Subject:

Disclosure of Acquisition of above 10% shareholding in EFGH under Section 110 of the Securities Act and Regulation 5.6.5 & 5.6.4 of the PSX Rulebook.

Dear Sir.

Referring to above captioned subject, this is to inform you that we received a notification dated October 04, 2024 from Mr. Imran bearing CNIC # 42000-5509472-9 (copy of CNIC enclosed) regarding his acquisition of more than 10% shareholding in the shares of the Company from the market that are required to be reported under Section 110 of the Securities Act, 2015, and Regulation 5.6.5 of the PSX Rulebook.

In addition to the above acquisition, the said substantial shareholder has also engaged in further buying and selling activities in the shares of the Company as per Annexure-A which also required to be reported under Regulation 5.6.4 of the PSX Rulebook and the Securities Act, 2015.

Please note that we have already intimated to the exchange through letter dated September 24, 2024 that the above person has bought more that 10% shares in the Company but he didn't comply with the reporting requirement as per respective regulations. Copy of the letter enclosed.

Kindly communicate the same to all concerned.

Thanking you.

Regards The !

Shahid Kamal

Company Secretary

Copy to

1) Mr. Hafiz Maqsood Munshi, Unit Head, Listed Companies Compliance-RAD, PSX, Karachi.

2) Mr. Sabeel Ahmed, Deputy Director-Listed Companies Department Supervision Division, SECP, NIC Building, 63 Jinnah Avenue Islamabad.

## FORM 1

## The information given in the Form is not intended to be exhaustive. The Company may seek any other information

The Chief Executive Officer EFG Hermes Pakistan Limited Karachi.

Date 04/Oct/2024

Subject: Notice of beneficial ownership to the company under section 101(1) of the Securities Act, 2015 by Director, Executive Officer and Substantial Shareholder

Dear Sir,

It is notified pursuant to Section 101(1) of the Securities Act, 2015 that I <u>Imran</u> has become <u>Substantial Shareholder</u> Detail of my beneficially owned equity securities as on aforesaid date is as under: -

1	2	3	4	5	6	7	
Sr. No.	Securities beneficially owned, held, or controlled by	Name	CNIC/Passport/ Registration No. (as the case may be)	Class of securities	No. of securities held	Cost (Rs.)	
1	Self	Imran	42000-5509472-9	Ordinary	2,143,238/-	23.69	
_2	Spouse	N/A	N/A	N/A	N/A	N/A	
<del>-3</del>	Other dependent(s) along with nature of relationship	N/A	N/A	<del>N/A</del>	N/A	N/A	
<u>-4</u>	*Private company, where returnee is a shareholder	N/A	N/A	N/A	N/A	N/A	
				Total=	2,143,238	23.69	

\* Give your proportionate shareholding in column 6 of the Table. i.e. No. of shares of the private company held by you divided by total issued shares of the private company multiplied by No. of shares of the listed company held by private company.

2	Signature
3	Name
4	Designation
5	UIN No.
6	CDC Investor Account No.
7	CDC Sub-Account(s) No.
8	Date

Imran Talunga Substantial Shareholder	
42000-5509472-9	
03277-90775	
04085-63188	
04-Oct-2024	

October 4th 2024

The Company Secretary

**EFG Hermes Pakistan Limited** 

Karachi

Subject: Submission of Notice of Beneficial Ownership under Section 101(1) of the Securities

Act 2015

Dear Sir,

I am writing to formally submit the attached Form 1 & details of trading (Annexure A), in compliance with Section 101(1) of the Securities Act 2015. This form contains detailed information regarding my beneficial ownership of equity securities as a substantial shareholder of the company.

Please find the necessary information enclosed, including details of the securities beneficially owned, as well as my personal and account details. Should there be any further information required, kindly let me know.

Thank you for your attention to this matter.

Yours sincerely,

Imran

Substantial Shareholder

CNIC: 42000-5509472-9

Cc:

Hafiz Maqsood Munshi - Unit Head, Listed Companies Compliance - RAD - PSX

## Annexure A

	(5)								
SETTLE MENT DATE	BUY VOL	BUY RATE	BUY AMOUNT	SELL VOL	SELL RATE	SELL AMOUNT	GROSS DAY	NET AVAILABLE	Percentage on Equity
06-Mar-24	34,500	12.2363	422,152			1.	34,500	34,500	0.179
15-Apr-24	59,000	16.1773	954,461	*	181		59,000	93,500	0.479
19-Apr-24	14,500	16.97	246,043	26,500	17.9600	474,959	- 12,000	81,500	0.41%
22-Apr-24	-			73,000	17.4523	1,274,018	- 73,000	8,500	0.04%
23-Apr-24			2.43	500	16.20	8,101	- 500	8,000	0.04%
14-May-24			0.00	5,000	15.9625	79,813	- 5,000	3,000	0.01%
15-May-24			3.0	3,000	15.8651	47,595	- 3,000		0.00%
17-May-24	100,000	17.6873	1,768,730		: : : : : : : : : : : : : : : : : : :		100,000	100,000	0.50%
20-May-24	100,000	18.9990	1,899,900				100,000	200,000	1.00%
21-May-24	342,000	20.4009	6,977,108				342,000	542,000	2.71%
22-May-24				100,000	20.9303	2,093,030	- 100,000	442,000	2.21%
23-May-24	394,500	22.5817	8,908,481				394,500	836,500	4.18%
24-May-24	105,500	24.2758	2,561,097	1			105,500	942,000	4.71%
27-May-24	179,500	25.6266	4,599,976	5,000	25.7024	128,512	174,500	1,116,500	5.58%
29-May-24	500	25.5585					500	1,117,000	5.58%
30-May-24	49,832	23.7638	1,184,198	31,760	23.9558	760,836	18,072	1,135,072	5.67%
31-May-24	169,581	24.9709	4,234,589	136,637	25.5822	3,495,468	32,944	1,168,016	5.84%
03-Jun-24	23,700	23.0390	546,024	150,057	20,3022	5,455,466	23,700	1,191,716	5.95%
04-Jun-24	13,894	23.0385	320,097		1920		13,894	1,205,610	6.02%
05-Jun-24	193,215	24.9864	4,827,752	53,000	23.3464	1,237,358	140,215	1,345,825	6.72%
06-Jun-24	170,158	26.8212	4,563,840	46,711	25.9920	1,214,113	123,447	1,469,272	7.34%
07-Jun-24	180,748	29.1276	5,264,749	2,000	28.4972	56,994	178,748	1,648,020	8.23%
10-Jun-24	15,000	29.3378	440.068	21,000	29.7207	624.135	- 6.000	1,642,020	8.20%
12-Jun-24	1,000	29.3098	29,310	21,000	25.7207	024,133	1,000	1,643,020	8.21%
24-Jun-24	1,000	29.3036	29,310	2	24.6350	49	- 2	1,643,020	8.21%
25-Jun-24	2,000	27.8243	55,649	2,000	27.9482	55,896		1,643,018	8.21%
26-Jun-24	100	27.4572	2,746	2,000	27.9402	55,690	100	The second second second second	8.21%
04-Jul-24	120	25.8632	3,104	- :		- :	120	1,643,118	8.21%
05-Jul-24	500,000	25.0481	12,524,050			-	500,000	2,143,236	10.71%
11-Jul-24	19,287	23.6538	456,211	- :	•		19,287	2,162,525	10.71%
12-Jul-24	76,993	25.3008	1,947,984	- :			76,993	2,239,518	11.19%
15-Jul-24	37,600	26.3539	990,905	61,000	25.9755	1,584,506	- 23,400	2,239,318	11.19%
18-Jul-24	700	26.9890	18,892	61,000	23.9733	1,384,506	700	2,216,118	11.07%
19-Jul-24	949	25.5541	24,251	-			949	2,215,818	11.08%
		THE RESERVE OF THE PERSON NAMED IN		25,000	27.4402	000 000			
22-Jul-24	294,910	27.9549	8,244,170	35,000	27.4483	960,689	259,910	2,477,677	12.38%
31-Jul-24	100	26.9581	2,696				100	2,477,777	12.38%
12-Aug-24		14.000		700	21.4513	15,016	- 700	2,477,077	12.38%
28-Aug-24	500	23.6360	11,818		550	-	500	2,477,577	12.38%
03-Sep-24	2,000	22.0068	44,014		(%)	-	2,000	2,479,577	12.39%
04-Sep-24	10	22.4360	224				10	2,479,587	12.39%
09-Sep-24	300	21.6719	6,502				300	2,479,887	12.39%
18-Sep-24	500	22.8344	11,417				500	2,480,387	12.39%
20-Sep-24	2,087	21.5733	45,023	-			2,087	2,482,474	12.40%
23-Sep-24	1,157,328	22.5372	26,082,928	150,000	22.5584	3,383,760	1,007,328	3,489,802	17.44%
25-Sep-24		1646	(% )	20,000	22.4576	2	20,000	3,469,802	17.34%
26-Sep-24	19,911	30.1058	599,436	364,852	32,4266	11,830,894	344,941	3,124,861	15.61%
27-Sep-24	61,173	34.5977	2,116,447	51,231	32.5109	1,665,564	9,942	3,134,803	15.66%
30-Sep-24	244,791	37.2300	9,113,568	20,601	36.0200	742,047	224,190	3,358,993	16.78%
01-Oct-24	6,900	37.9264	261,692		89		6,900	3,365,893	16.82%

 Company's Equity
 20,015,650
 100%

 Hit 10% as on 05 Jul 2024
 2,143,238
 10,71%

 Hit 16.82% as on 01 Oct 2024
 3,365,893
 16.82%